oo = == == ==[1[]

0000000000 0000000oonooooooooon
0oO@oooon)

goo:

000 : 2022/10/6 8:48:29

oooo

O00000000001110903000 000 011100209420 000 O
0000000000000 00o000o0o000ooo00o0ooooo0ooooo0oooooonon
O00000000o0o0o0oooo0oooooooooooooog

ooooooooooog

(HoooDoooooooooOoOwerdwallD OO ODOOOOODOO
0oo0odooooliioloosoooot 1200

0000000000000 0000000 0355235900

(0H)Oooooooooo

O00000d0oliigiod2200009e0 01200

0000000000000 0000000 DO 35605630

(OHhooooobooooooooooo

O000000o011ioi1o0230 009001200

00000000000 00D00000D0 00O 35568660
O0000000Do0oo0oDoooooooo{0Doo000o0oo000Dooo0oo0oDoooooDoO
O00000o00oooOouoooooooooooon

O https://drive.google.com/file/d/1ai3zNo6Qpfn09etNr26npMsghpWvl i01/view?usp=sharing O

http://163.30.202.2 2025/4/21 13:07:03 - 1


http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

